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[Option ID = 7037]
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egae 0 [Option ID = 7065]
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[Question ID = 1768][Question Description = 52_q5Nz_PG_KAN_Q18]
1. A-1,B-1,C-1¥,D- Il [Option ID = 7069]
2. A-1,B-1,C-1N, D- IV [Option ID = 7070]
3, A-IV,B-NI,C-1,D -1l [Option ID = 7071]
4. A-l,B-1v,C-1l, D-I[Option ID = 7072]
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[Question ID = 1769][Question Description = 52_q5Nz_PG_KAN_Q19]
1. A=V, B-Nl,C-1l, D-1[Option ID = 7073)

2. A-1,B-11,C-N, D- IV [Option ID = 7074)

3. A-Il,B-IV,C-1,D -1l [Option ID = 7075]
4. A-1l,B-1V, C-1,D -l [Option ID = 7076]
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[Question ID = 1770][Question Description = $2_qSNz_PG_KAN_QZ20]
1. A&z B Sred, [Option ID = 7077]

2. D =@ C 853, [Option D = 7078]

3. € 33, [Option D = 7079]

4, E @ing, [Option D = 7080]
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[Question ID = 1771][Question Description = 52_q5Nz_PG_KAN_Q21]
1. Azbd) B @na3, [Option ID = 7081)

2. Cabad E dreg [Option ID = 7082]

3. B @3, [Option ID = 7083]

4. D @3, [Option |D = 7084]
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[Question ID = 1772][Question Description = 52_q5Nz_PG_KAN_Q22]
1. Azhad C 83, [Option ID = 7085]

2. D a3 E @ra, [Option 1D = 7086]

3. B &es, [Option ID = 7087]
4. C g@rea, [Option ID = 7088]
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[Question ID = 1773][Question Description = 52_qSNz_PG_KAM_Q23]
1. D &) E &3, [Option 1D = 7089]

2. B sz C &) [Option 1D = 7090]

3, D aed, [Option ID = 7091]
4. Add, [Option ID = 7092]
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A, B, C, D, E [Option ID = 7093]
. E, B, A, D [Option |D = 7094]
. C, A, B, E [Option D = 7095]
E, A, D, C [Option ID = 7096]
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[Question ID = 1775][Question Description = 52_qS5Nz_PG_KAN_Q25]
1. BePs- : | 3z, - Fe@s8-11 86 [Option ID = 7097]
2. Fe93- 1 | 3, - Few3-1l 3, [Option 1D = 7098]

3. @eds- : | BO- BedE-11 8O [Option 1D = 7099]
4. Fed3- 1 | TO - BeDS-1l Sz, [Option ID = 7100]
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[Question ID = 1776][Question Description = 52_q5Nz_PG_KAN_Q26]
1. D &) B @3R3, [Option ID = 7101]

2, Azd@) C @ng, [Option 1D = 7102]

3. D @3, [Option ID = 7103]

4. E@3y Ddndg [Option ID = 7104)
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[Question ID = 1777][Question Description = 52_qSNz_PG_KAM_Q27]
1. A-NI,B-1,C-I¥, D -1l [Option ID = 7105]

2. A-L,B-I,C-IV,D-1I [Option ID = 7106]

3, A-I,B-1I¥, C-1,D-1I[Option ID = 7107]

4, A-NLB-1,C-1,D-IV[Option ID = 7108]
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[Question ID = 1778][Question Description = 52_qSNz_PG_KAM_Q28]
1. @edd | IO ) Fedd 11 30 [Option 1D = 7109]

2. BedP | I s FedE 11| TO [Option ID = 7110]

3, Bed | 3 DIy 9B | 3z, [Option ID = 7111])

4, FePd | IO by FedF | 3@, [Option D = 7112]

19) "t &orl Reewderyd JF e bori Reelnd I, SN T Tyort Seedde AF’ 90 e@[Question ID = 1779][Question
Description = 52_q5Nz_PG_KAN_Q29]

D0BZEO Sayd e [Option ID = 7113]

For3ah wrifs Pabs ez [Option ID = 7114]

sipesssnly, JoReRRIE B3ssab weadd [Option ID = 7115]
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3dabay [Option ID = 7117]
AEBrERy [Option ID = 7118]
Jed==y, [Option 1D = 7119]
Femry, [Option 1D = 7120)
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wm3 Fuad svorzswy, [Option 1D = 7121]
DOF 0T maBA0bay, [Option ID = 7122]
eEsy, rig@==y, [Option ID = 7123]
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[Question ID = 1782][Question Description = 52_qSNz_PG_KAM_Q32]
1. @.3.8040@etec® [Option ID = 7125]

2. Agioly, Foweeds® [Option 1D = 7126]

3. 2duried Z@3br [Option 1D = 7127]

4. G.a.ruemg [Option 1D = 7128]

23) adumeadd Joaduy AgMmIahrdndedod &3dmha Fusnvd wds wotb[Question ID = 1783][Question Description =

52_qSNz_PG_KAN_Q33]
edoid [Option ID = 7129)
2,3 [Option 1D = 7130]
zreried [Option ID = 7131]
by [Option ID = 7132]
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24) & 0 83 BT Balrerad dE[Question ID = 1784][Question Description = $2_qSNz_PG_KAN_Q34]
ayeg [Option ID = 7133]

erased [Option ID = 7134]

Zreafed [Option 1D = 7135]

gy [Option 1D = 7136]
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Rebdenrvdd[Question ID = 1785][Question Description = S2_qSNz_PG_KAN_Q35]
eracdrerberecs [Option (D = 7137]

dezeodd [Option 1D = 7138]

"yrebaess [Option D = 7139]

sreeserbeacd [Option 1D = 7140]
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Jerp,om[Question ID = 1786][Question Description = 52_q5Nz_PG_KAN_Q36]

1. Zghtkds [Option ID = 7141]

2. ®.Bo.zdmhdaal, [Option ID = 7142]

3. s.oegamyd [Option ID = 7143]

4, ofF. 2 88eosnea’ [Option D = 7144]
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[Question ID = 1787][Question Description = $2_qSNz_PG_KAN_Q37]
1. A2 B Sred, [Option ID = 7145]

2. B &bz D 8rea) [Option 1D = 7146]

3. € =3 E S, [Option 1D = 7147]

4, D @3 E 83, [Option ID = 7148]
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[Question ID = 1788][Question Description = 52_qSNz_PG_KAN_Q38]
1. A3 B e, [Option ID = 7149]

2. A C @ed [Option ID = 7150]

3. Cabd D @ng [Option ID = 7151]

4. D =) E@rd [Option ID = 7152]

29) =dwd ged3, ovf.ovfoerierPadd drhthaned
A, chotwnde SR Tor@ewab
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E. Soxdad dab donj@evod

g 3¥N solyrivd Sbakned vwgoda rdithdd:

[Question ID = 1789][Question Description = 52_q5Nz_PG_KAN_Q39]
1. Agba B 3 [Option ID = 7153]

2. A@a C S8, [Option 1D = 7154]

3. Babah D =es) [Option ID = 7155]

4. D =@ E ana) [Option ID = 7156)
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[Question ID = 1790][Question Description = 52_qSNz_PG_KANM_Q40]
1. Az B =g, [Option ID = 7157]

2. B &hab C Sra, [Option 1D = 7158]

3. C @@ E &23, [Option ID = 7159]

4, D @@ E @1, [Option ID = 7160]
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[Question ID = 1791][Question Description = 52_qSNz_PG_KAM_Q41]
1. A2 B Sred, [Option ID = 7161]

2. Aghad C 8rea) [Option ID = 7162]

3, C &3 E dwed, [Option D = 7163]

4, D @@ E @, [Option ID = 7164]
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A. Fo ded . Agdon De3e Fed
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C. Booridew Il 9.8 Combedons, Babe|
D. zood &0 |IV. 3D.d50k,

8 VNPV T0ireTd ovEoawy wal), Sred.

[Question ID = 1792][Question Description = 52_qSNz_PG_KANM_Q42]
1. A-I¥,B- 1, C-1l, D-1[Option ID = 7165]
2. A-1,B-1,C-1v, D- Il [Option ID = 7166]
3. A-1L,B-11,C-1I¥,D -1l [Option ID = 7167]
4, A-1,B-IV,C-1, D-IlIl [Option ID = 7168]
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[Question ID = 1793][Question Description = $2_qgSNz_PG_KAN_Q43]
1. A-IV,B-1ll,C-1, D-Il [Option ID = 7169]
2. A-1,B-1V, C- I, D- lll [Option ID = 7170]
3. A-NI,B-1I,C-1v, D-|[Option ID = 7171]
4, A-IW,B-1, C-1I, D -1l [Option ID = 7172]

34) Beod, mokd; wBIdch BB POR,3 FANY SwerbdEhad rhthdd
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B. @ddwefen

C: Eﬁmﬁﬁi‘i 2303

D. 3eoaarechan ddedo
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[Question ID = 1794][Question Description = 52_q5Nz_PG_KAN_Q44]
A, B, E, C, D [Option ID = 7173]
, &, B, C [Option D = 7174]
, A, B, E [Qption ID = 7175]
A, E, D [Qption ID = 7176]

D, E
D, C
B, C

1

a2

¥

35) wdoed B3AnY s RaR, rHdhdd:
A. o E0dR (Sear)

B. ugabmemed ([).Q0.23910)

C. Jeebadod 33 (Tem)

D. tameTenadod (MYn~a)

E. s3c3a8 (D.8508393a0dr)

& 89N salyrvY B0rRE euEdaR) Hthdd:

[Question ID = 1795][Question Description = 52_qSNz_PG_KANM_Q45]
D, E, B, C, A [Option ID = 7177]
D, C, E, A, B [Option ID = 7178]
E, D, A, B, C [Option ID = 7179]
E, B, C, D, A [Option ID = 7180]

* *

oLk B2
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36) 3t OO BeBNVRY TeBeNd, 2ot Bedd A ootis wriRoBRY, Fadn-Ju5dd R actle 00T,

Bevd Al

A, WY WD

rid weudd fad

WoRHNE ~e.To

rbbdhed Btha’

H06-JT0H R:

200 33,8, JP350 wonddod vigs SwdulRrdd vseog Ladriecds.are et 353, Jodd rem-rdmh Sdad

wedd oUds BePBNY Breos Ded, & VNIV o3 30T «uaEda vob, ad.

[Question ID = 1796][Question Description = $2_qSNz_PG_KAN_Q46]
A 3R adde ©0.2& R e eeh A ob TBureT weidmaend, [Option ID = 7181]
A 3R oUEe FObe. [Option ID = 7182]

A @593, 70,400 R 0 20, [Option ID = 7183]

A B0 @ sod R 83, ©0. [Option D = 7184]

T

37) & SYNIJYrivd dredhmd ewds Josl(Ordinal Number)?[Question ID = 1797][Question Description =

$2_qSNz_PG_KAN_Q47]
2.0 [Option 1D = 7185]
el [Option 10 = 7186]
£,0F [Option ID = 7187]

2,02 [Option ID = 7188]

b B

38) ‘ur”’ pv@ER) w¥reclE ST ER) S Ded Iabenrhdd:[Question ID = 1798][Question Description =
$2_qSNz_PG_KAN_Q48]

&oire@,8 =eg; [Option D = 7189]

Jedod =393, [Option (D = 7190]

Foeswe @eg,; [Option 1D = 7191]

3,303 =g, [Option ID = 7192]

oW R

39) ‘o’ cowdd:

[Question ID = 1799][Question Description = 52_q5Nz_PG_KAN_Q49]
1. @drC Aberdd saraeed [Qption ID = 7193)

2. wze,grs adroeel [Option 1D = 7194]

3. @dved derse daraeab [Option 1D = 7195]

4. D RIr Aferds Frowea [Option D = 7196]

40) ‘Sorme3,d womedyges's wguhdg, d sYNad) meahfaehd:

[Question ID = 1800][Question Description = 52_qSNz_PG_KAN_Q50]
NOBG wWew [Option 1D = 7197]

smhzma [Option 1D = 7198]

ZemaE g [Option ID = 7199]

mmres @ [Option ID = 7200]

a2 =

41) "odyiad evd RPanes wh uKd ugd dPuns TR sYLEcoRdDET. wris orF Suabodud e BOTRD
AW, ZADDBE."- B FreBrieh Z)3ab Zed BB BATDT FoBowd:

[Question ID = 1801][Question Description = $2_qSNz_PG_KAN_Q51]
morsa, O [Option 1D = 7201]

Artet shabech [Option 1D = 7202]

ra4a [Option ID = 7203]

=twé [Option ID = 7204]

Y e

42) 8 SYNIJHvd Sthaenow ¥=0 Setiv Sotiowd:

[Question ID = 1802][Question Description = $2_qSNz_PG_KAN_Q52]
bdees [Option ID = 7205]

RT3 Bymgeredo [Option ID = 7206]

Adzsatad [Option 1D = 7207]

shededraess [Option ID = 7208]

P

43) ‘09d Ded’ Hdowdad Jdedse dod:[Question ID = 1803][Question Description = 52_qSNz_PG_KAN_Q53]
HUBE YOS AdeSs [Option 1D = 7209]
8,3ead gycha Jdeas [Option 1D = 7210]
B 3eab Fcba e [Option 1D = 7211]
e Hh=E Idews [Option ID = 7212]

oW =
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44) & 3¥NJa) Jeadnded ehxadded vad 8,8rnve SoRwth3 medriwi[Question ID = 1804][Question Description ¥our Personal Exams Guide
$2_qSNz_PG_KAN_Q54]

reodese,s, wred, dorta, seves [Option ID = 7213]

e, Wetip, ey, e [Option ID = 7214]

PP, Wy, vuwe, wsed [Option ID = 7215]

Bowas, PP, SRes, Temy [Optien ID = 7216]

oW R

45) o=o3-3e0 Snay teddahdtha srond:
A, 3dzond

B, moeysab esodryeedh

C. abdeed

D. &3

E., &ded

g 3¥Na solyrivd Sbakned vwgods rdthdd:

[Question ID = 1805][Question Description = 52_qSNz_PG_KAN_Q55]
1. Azbd B ZR3, [Option ID = 7217]

2. Azbd C 3wd, [Option ID = 7218]

3. D @nd, [Option D = 7219]

4. A3, [Option ID = 7220]

46) IFTHBT Ay, VFRTW!

A. 8;80b TeT0hd 20

B. 88,30 soegs

C. Te0Beds yod

D. deoae)n Spodal

E. SR 3,03

& BYNT el rivd J0RE twadaxy Hthdld:

[Question ID = 1806][Question Description = 52_q5Nz_PG_KAN_Q56]
1. Azhab C gred, [Option 1D = 7221]

2. A@d B 33, [Option ID = 7222)

3, D aed, [Option ID = 7223]

4. E a@5ed, [Option ID = 7224]

47) IWRT* 3 350 wedad vgm:

A. wotdh Gus

B. Gabo Aobahd g v

C. woam NiEsn IR werleolhamd

D. 93 shad) wv's

E. 429,333 Brobdhlth

8 YRR ealyrivd JBanG svddds) rithdd:

[Question ID = 1807][Question Description = 82_qSNz_PG_KAN_Q57]
1. A D @93, [Option ID = 7225]

2. Azvd B @red, [Option ID = 7226]

3. C 33, [Option ID = 7227]

4. E 83, [Option ID = 7228]

48) 8 SYNIJrvY drdd Sedode obaIC woBde?:
A, 350 TS Jed B vabE TS

B. J5 380 TJegasdad ﬁ'gﬁ

C. 2Pmead Setssnvd do3 d@amﬁiﬁ

D. s sogr

E. Swaed doozah..

g 3¥Na solyrivd Sbakned vwgods rdthdd:

[Question ID = 1808][Question Description = 52_qSNz_PG_KAN_Q58]
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A =03 B e, [Option ID = 7229] Your Personal Exams Guide
D &a@ C &5, [Option 1D = 7230]

A 93, [Option |D = 7231]

E e, [Option ID = 7232]

oW

49) 3¢ | SODS wedyriv BJ0Y, e Il SQDS Bdrikeds Beohd wBdLd

B | 2 |

A. SBoBa ]l mERce

B. dam Il Syaond

C. DI 3 lll. w00 gwaaon
D. w80, |IV. 2, wedorid

B BUNIINVE SOWRT LuB0FRY, 30k, b

[Question ID = 1809][Question Description = 52_qSNz_PG_KAN_Q59]
1. A-I,B-1, C-1¥, D-[Option ID = 7233)
2. A-ll,B-1,C-IV,D-Il[Option ID = 7234]
3. A-1,B-1l,C-IV,D- Il [Option ID = 7235]
4. A-I¥,B-1,C-1l,D- Il [Option ID = 7236]

50) @ | <, B || O Bzt Becdd WO

e | e |l
A, wod s [l &,
B. obmadE |I. 7,2
C.gwed |l o, v
D. OO 3¢ |V, 1f, oF
B YNSRIV BOWE FBIY ok, BB

[Question ID = 1810][Question Description = 52_q5Nz_PG_KAN_Q60]
1. A-NI,B-1¥,C-1, D-1l[Option ID = 7237)
2. A-NILB-1,C- ¥, D -1l [Option ID = 7238)
3, A-1,B-N,C-1,D- 1V [Option ID = 7239]
4, A-IV,B-1l, C-1,D -1l [Option ID = 7240]

51) 8 39l aUm BePInvRY, Jederand

Bevd | : 193 BFTeoNUIY eDSRTLBTG PLTIR Pedoly &.80.v000 TAFnY botdabe with wUCY Hoeds
Befedinsh Sddeedw slotimeNties

Be0s Il : 3,3p.6-00R0) ITRRNVY BTEHIBH0T Furd thd FBLEToND. ©R030 SuT) TIIRRNW BYT wheed BT AIBBOT
B3 o B BT,

ZedR BeRInvdT 8oy e XOWRE HuEdaRy, 8 VNS Lol R Hhad.

[Question ID = 1811][Question Description = 52_q5Nz_PG_KAN_Q61]
1. 9 | D) Fedd |l o0Ee TF,. [Option ID = 7241]

2, Eed8 | ) Fe?F |l adrde 1wy, [Option ID = 7242)

3. Bedd | F0RAT, »dd Fedd |l Awynhd [Option ID = 7243)

4, Fedd | IbcdRhy =G Fed2 1| 53, [Option ID = 7244]

52) 3¢t OO BeRBNVR) eBeNt, wotR) Bedd A ootis WxiR 0GRy, Fadn-J5dd R actle 30abenA.

BedZ A: BhJotn ugs, Nedd Faleernvy, rod 0eSBY Sotl tToth 3edT SrZd, vhriv Jodus Fabr Fenraaieen Jebr
Sdurrhgdde.

BoUm-son R: Peydod ved Dewbdd 8 doleerinida LD, JonBd, Aiidd, Zabeeh Betdd vmeddBauhas) Brith®ed Wessthtday,
BTN Fedd wrdon gyt W¥OZ b, sdand dur Il JomereancmaNa,

=edF oUth BePdrv Bgeod ebed, 8 SYNSINVY ©d SOWRT vIoa) wal, and.

[Question ID = 1812][Question Description = 52_q5Nz_PG_KAN_Q62]
A THER adde 8.3 R o= ZHh A ob BT JScHGERAD. [Option ID = 7245]
A @R oUne J0. 30 R arh@ch A ab 8w Jguslehy. [Option (D = 7246]
A aed, m0,8w0 R 20 «v. [Option D = 7247]
A =D v 0T R die, 80, [Option 1D = 7248]

oL B

53) FoB BB PO, BOR, FRDHFZRBY rHThd:
A. o RITTeL

B. ¥o@Feayd Sowed

C. .07 2wesEroes’

D. 8.303tBuzed

E. Beladod 339



WWW.prepp.in .repp

& 89N sy rivd J0IRE tudtadxy rHhd: Your Personal Exams Guide

[Question ID = 1813][Question Description = 52_q5Nz_PG_KAN_Q63]
C, A, D, B [Option ID = 7249]
E, A, B, D [Option D = 7250]

, A, C, D, B [Option ID = 7251]
E, B, A, C [Option |D = 7252]

v

oWk b2 o

1 1

54) & ¥NT 58nv clato g3udod Senbyabadahal) thdd:
A. o MEHT o & B tyoried- oF. Pt

B. 833 mog RV ©0oB03 OWR 2B upraST- B.07 . Bo3dye’

C. 333 vomadetss- DTWB TR

D. 33 wedoh 23T~ ). Toddoq T’

E. 853 wo@me e, - Usab Dedmerdsd

8 ZYAR ealyrivd JBanG svddds) rithd:

[Question ID = 1814][Question Description = 52_qSNz_PG_KAN_Q64]
1. E, A, C, D, B [Option |D = 7253]
2. C, D, E, A, B[Option ID = 7254]
3. A, E, B, C, D [Option ID = 7255]
4. A, B, E, D, C [Option ID = 7256]

1 L]

55) " BBHpeR TPaleergehel0Fee " aow Bed B ZeIRNGY & dleerimend.

[Question ID = 1815][Question Description = 52_qSNz_PG_KAN_Q65]
SIS AT ﬁﬁmﬁu Zemm [Option 1D = 7257]

wZpeds sod)rboth Tems [Option ID = 7258]

uZpeds Bilorivadbesd Tom [Option 1D = 7259]

3x0wd 89,8 Tess [Option ID = 7260]

o 2

56) ZeedbZdlogidad, BaDIDS o

[Question ID = 1816][Question Description = 52_q5Nz_PG_KAN_Q66]
Sibsy0zems [Option ID = 7261]

Famdvriey Sodandah zaas [Option 1D = 7262]

Feeriey gema [Option 1D = 7263]

3@ zomss [Option 1D = 7264]

o e =

57) " ado IDa udze Boo " ooth BePDS 557 Byd[Question ID = 1817][Question Description = S2_gSNz_PG_KAN_Q67]
1. =oymedeess [Option D = 7263]

2. Bdosm@erro [Option [D = 7266]

3. dubeidsre [Option ID = 7267]

4. cvsngahed [Option ID = 7268]

58) " rdmebo Haohd STt DnELEe " QoW BePDD T,

[Question ID = 1818][Question Description = 52_q5Nz_PG_KAN_Q68]
esBmoee [Option 1D = 7269]

od@eens @63 [Option ID = 7270]

momTesiale [Option ID = ¥271]

w23 3egra0muet dugo [Option ID = 7272)

T

59) 8 TR " ITI0 PR " Qo FeET FF,

[Question ID = 1819][Question Description = 52_qSNz_PG_KAM_Q69]
Alwesue [Option 1D = 7273]

Nedezida® [Option ID = 7274]

apbdondee [Option ID = 7275]

23, wad@ [Option (D = 7276)

e ld B

60) ocieeri ) eleer oTde JBoLAVRY ISHFariedd so8, CuEIE IFEE 3

[Question ID = 1820][Question Description = 52_qSNz_PG_KAM_Q70]
~eridod) [Option ID = 7277]

Sodales [Option 1D = 7278]

Sy soads [Option ID = 7279]

Znrmeole [Option ID = 7280]

o kad R

61) Togaoo8 Buah JoB30 woges a@e3hoba) dh3d,dreh widd DB, FJ[Question ID = 1821][Question Description =
S2_qSNz_PG_KAN_Q71]
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Peahsd [Option ID = 7281] Your Personal Exams Guide
o&es [Option ID = 7282]

aracass [Option ID = 7283]

bty [Option ID = 7284]

oW

62) Spdeotd D80 wgodh Jedg g¥

[Question ID = 1822][Question Description = 52_q5Nz_PG_KAN_Q72]
@om [Option ID = 7285]

e rac [Option D = 7286]

euch38 [Option ID = 7287]

ererfezral [Option ID = 7288]

a2

63) B 3YNIT ot Jeeurw) NSRS eEered FeBoudabds Dwedcdad Bedzrs enud
A. o sa0eric BU0 Bedd sUNDTc8Y) DIy Feme BOTEBLY

B. ok dedort bz Save chg 8, seabbo sesdort dxed Sabobane

C. Sameioben Geds Maduadwhr wobdbabe

D. &3 Solun,@h2 338 Rdeedhaacrdmdd Nedo Subded wedvHTZ

E. wrirlen, medwriobe iy @b@ed ed wnodhdo® 8pemd e

& 89N salyrv) B0RE ewEgda) Nhdd:

[Question ID = 1823][Question Description = 52_qSNz_PG_KAM_Q73]
1. Az B Sred, [Option ID = 7289]

2. B a3 C @z, [Option ID = 7290]

3, A3 D @ng, [Option 1D = 7291]

4, D @@ E I3 [Option ID = 7292)

64) TF F0d TBTYED Jwobo 3,30hd BaleenmeNdhd ' TeEdr ' oow Bd, OUR e
A. ond

B. zdn

C. wzi FuIc=D

D. wed 2rickoa3ch

E. @03, Sevaindd

8 YRR ealyrivd JBaint svddds) rithda:

[Question ID = 1824][Question Description = S2_qSNz_PG_KAN_Q74]
A @b B 53, [Option ID = 7293]
A @b C @reg) [Option 1D = 7294]
B @ C 2593, [Option 1D = 7295]
A B3 E 93, [Option ID = 7296]

Y e

65) S YRS 0 TN VUBTABIN FINE TPLrivena
A. By 0 N DO FoBdBeowmd JIe

B. 830,03 ABCL cuBain HATH wBevot]

C. Bzbr Madohor] wmedobon LIREe) SO Ko

D. 80 e S3CRYE RWATE oubort Bdainotd

E. 8¢ 3oy 39330 3433 3Babesd Sotd 563 BeedBOPotd

g 3¥NR e0,1vO BBuked wudda, b3

[Question ID = 1825][Question Description = 52_q5Nz_PG_KAN_Q75]
1. Azhad B s, [Option ID = 7297]

2. A& C S8, [Option 1D = 7298]

3. A3 D Swa, [Option 1D = 7299]

4. B&ba C &red, [Option ID = 7300]

66) S ddoin DaFcTeEbel S ob MKERY, berl BredITIN.

A. dnsmudvdoed

B. g,easN0obod

C. 3deedfodod

D. roreavdod

E. svome0ohicded
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[Question ID = 1826][Question Description = 52_q5Nz_PG_KAN_Q76]
1. Az D &3, [Option 1D = 7301]
2, Azd@) C @ng, [Option 1D = 7302]
3, Babd) Ednd [Option ID = 7303]
4, C @3 Edng [Option ID = 7304]

67) & ) SINW JBHFINTR U0 e=dabig
A. 0B n0cTes

B. desdidorn,

C. 3Bmev B0ed

D. 3ndm

E. @Cotidoes

8 3YAR eod,nvd JBdnG evdtaEs) rthdd:

[Question ID = 1827][Question Description = 52_qSNz_PG_KAN_Q77]
1. Az B @red, [Option ID = 7305]
2. Az C Zrea, [Option ID = 7306]
3. A =3 E 33 [Option ID = 7307]
4. B E =, [Option ID = 7308]

68) ¢ | 2, 3¢ || T e3B! Bodd Wb

3l | 63 1l
A. Bos || ;edw

B. maﬂ-moé{ll. NELTROBR
C. Doridog, |lll. @33
D.3  [IV.3388

B BUARINVY BOWT euZoIRY e, Bb.

[Question ID = 1828][Question Description = 52_qSNz_PG_KAN_Q78]
1. A-IV,B-N,C-1,D-1

[Option ID = 7309]
2. A-1L,B-1¥,C-1,D-1I

[Option ID = 7310]
Aol N BB N D

[Option ID = 7311]
4, A-1,B-1,C-1,D-I¥

[Option ID = 7312]

69) E¥AT BJ B = rivR) seenrbgmddohd Beedd
A. dgioeed

B. 8:38wed

C. Sodob@Bag R,

D. 8@8pey DRIV,

E. Dezded

& BYNT el rivd J0RE twadaxy Hthdld:

[Question ID = 1829][Question Description = 52_q5Nz_PG_KAN_Q79]
1. A, B, E, C, D [Option ID = 7313]
2. A, C, D, B, E[Option D = 7314]
3. D, C, A, B, E[Option ID = 7315]
4, B, C, E, A, D [Option ID = 7316]

] *

70) 39t oCh TSNV eduend, wodR) Bedd A ootie wrigoBRY, Fedn-J8dd R acte 30abenhd.
BePF A: " dehig ot a0 AL HAT SeaEinotd Watianced el suow dedr deduddudevea vornbEde "
Fo00-JIW0H R: " edgd oo adow, Aedgs LoTeTRTN0LD, N0 Tots URoiSNwo, WonTesnmet Snrat Jeduoe 95 sUoen "

edT oTdn BePdnv egedd ehed, 8 SVNRINVO o3 JOWRT tugodsy vl aSna.

[Question ID = 1830][Question Description = 52_qSNz_PG_KAM_QB80]
A TR oCEe TO.2E) R oFhth A ob IOwRG dscsdrhd. [Option ID = 7317]
A TR oCEe 8. st R ofY i A ob IO dzvsudrhey. [Option ID = 7318]
A B3, 18,800 R &0 @, [Option ID = 7319]
A B0 @ sod R 83, ©8. [Option D = 7320]

bl D
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71) 3¢t 0w Eﬁt@ﬁﬁ?ﬁg{ Zprafits, hotﬂdg‘ B3 A ootle md@{odd& Solea-J0E

R aoBe 3vcheshad.

BeVE Al adabsow 3w Qelavhgded, SJt ayhaerived ?
DIWEY AR, TS HIJadry;, DIBY BBIVEIF, ?

AED Fedir tloB00d ¢B0 JB aFmedhd@ andudonichdeme.

500-JIB0H R: " e o@), 500 AROIQ IITTe Sytheenien TG, Beriobe GETB Yadyd Hed om) Hou B0y JeddBde
eUdon Soleesddy. b g riedud uad Fvund dTvabod SR wde bed sdhd dpButcnatts

2edF oUnds SePdny upeoy wed, 8 FYNIPINVE s S0uRD veoa, e, and.

[Question ID = 1831][Question Description = 52_q5Nz_PG_KAN_Q81]
1. AZER aUde J0.3E) R ody@th A ab S0wRG JSdsarehd. [Option ID = 7321]
2. AER aUde 0. 63T R or@ch A ab J0uimd Javscrehy. [Option 1D = 7322]
3. Adhed, 80,8030 R &0 9. [Option ID = 7323]
4. A0 9v ugd R Sred, 0. [Option ID = 7324]

72) & 3JW BINVRY sowarbgcheddodd Beel
A. Jurbe d@aleeh

B. drdunth wizddon

C. =203

D. cegweos

E. ®0=0

8 3YNT v rivd J0udind twIosER) rthad:

[Question ID = 1832][Question Description = 52_qSNz_PG_KANM_Q82]
A, B, C, D, E [Option ID = 7325]
A, C, D, B, E [Option ID = 7326]
E, D, C, A, B [Option ID = 7327]
E, B, C, A, D [Option ID = 7328]

r T

bl B

* * ]

73) & & Bodnmdd odid Juddew 5 rivb[Question ID = 1833][Question Description = 52_q5Nz_PG_KAN_Q83]
1. TURS B Dwecies [Option 1D = 7329]

2. TS B eciesd [Option ID = 7330]

3. TDFS 2y becdedd [Option 1D = 7331]

4, ToIE e v dhizeded [Option ID = 7332]

74) ---mmmmmmeeeee- , @ O Bedrteadd Fuog[Question ID = 1834][Question Description = 52_qS5Nz_PG_KAN_Q84]
1. eaua sba [Option ID = 7333]

2. erodeicing s [Option ID = 7334]

3. Savey AR, shdey Afrh [Option ID = 7335]

4, DA @reciredecdrt [Option 1D = 7336]

75) OE, R0fa’ Bd wored WENYE 8338, BuP BArive vdbaer Arpdcdh[Question ID = 1835][Question Description =

$2_qSNz_PG_KAN_Q85]

1. 8 2 DeshdeSowey [Option 1D = 7337)
2. ohzdn Auons [Option 1D = 7338]
3. o Q medzdiEh, [Option 1D = 7339]
4, o & gamnahasF [Option ID = 7340]

76) 'ou0 BTeFuzn Jed ToBW' 830D, OB Jead

[Question ID = 1836][Question Description = 52_qSNz_PG_KAM_QB86]
1. TBRh@ 30e3d [Option 1D = 7341]

2. Pdeof DEh, o 3wk [Option ID = 7342]

3. desbind DB, Bow® [Option ID = 7343]

4, D ac D2 [Option 1D = 7344]

77) 033 IBTuRode Bed ootd TeVT dveRreoRB[Question ID = 1837][Question Description = $2_qSNz_PG_KAN_Q87]
zeeh [Option ID = 7345]

edmeses [Option 1D = 7346]

eotiTgirs [Option D = 7347

=ri~yE [Option ID = 7348]

L kad RJ

78) o3 A ugrri JeIrlzonnd ebdoBdnved Hedrde F0DeB 0003 wotimzb[Question ID = 1838][Question Description =
S$2_qSNz_PG_KAN_QB88]
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widied [Option ID = 7350]

Fadoes [Option ID = 7351]

Zeesd [Option 1D = 7352]

oW

79) SpRdea® oot ---- gedd FedT B0y

[Question ID = 1839][Question Description = 52_q5Nz_PG_KAN_Q89]
Sarkacdy [Option D = 7353]

mobd; [Option ID = 7354]

o, 0;3ead [Option ID = 7355]

el [Option D = 7356]

a2

80) of},u:,08F oot 5,508 Yvavabry ~---- ot sdolwzat[Question ID = 1840][Question Description =
$2_qSNz_PG_KAN_Q20]

Le¥ g Bem¥F [Option ID = 7357]

£2F esgF el [Option 1D = 7358]

aeF 57 dRErar, [Option ID = 7359

&eF g abee [Option ID = 7360]

L kad R

81) @z DA ©IT NG, 5ANW

a, 2e3 dexdrood

S8 5% ged dndd
HedBneToa

. edhdped

ang

[Question ID = 1841][Question Description = 52_q5Nz_PG_KAN_Q91]
1. {a) &= (b} [Option ID = 7361]
2. (a) == (c) [Option ID = 7362]
3. (b) ==(c) [Option ID = 7363]
4. (c) = (d) [Option ID = 7364]

82) =g & & FUelar ¢DT TwBnw:

a. o S ehots®

b. 80wm0

c. D aIwf

d. ~eznabolevrice Jrigw drecbolee

[Question ID = 1842][Question Description = 52_qSNz_PG_KANM_Q92]
1. (b) @3(c) [Option ID = 7367]
2. (c) @3 (d) [Option ID = 7368]
3. (a) @& (¢) [Option [D = 7365]
4. (a) @3 (d) [Option D = 7366]

83) #mhdor ¢TC oUW ZRww SEHW Q@)

a. meey, EAY ek

b. 33 o

C. B0 BSTTV0DE
d, wotd 2ord rfeed

[Question ID = 1843][Question Description = 52_qSNz_PG_KAN_Q93]

1. (a) @ (b) [Option ID = 7369]

2. (a) @a (d) [Option ID = 7370]

3. (b) @a(c) [Option ID = 7371]

4. (c) @y (d) [Option ID = 7372]

84) s34 mﬂna’ﬁ cbegdvodiah Bgadobal Bthas Fowid 3800 o383 St
(a) © ve Jeod,

(b) 2oy

(€) 8 ) <eUachea

(d) 8 estf menioen

[Question ID = 1844][Question Description = 52_q5Nz_PG_KAN_Q94]
1. {a) @ (b} [Option ID = 7373]
2. (a) =b (d) [Option D = 7374]
3. (b) ==(c) [Option ID = 7375]
4. (c) B3 (d) [Option ID = 7376]

85) ThEeesss ath Bornve SaEnRTTRYNW :
(A) 0. 3 2, Sgnv dewged &, TBNY JHFUNW
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(B) 0. 8¢ 9. Hedpamd 83T0bE a. tLmE Fa0hd Your Personal Exams Guide
(C) 0. yed 9. ToNed  a. B,
(D} 0. W 9. BeIB a. FJ ToNes

[Question ID = 1845][Question Description = $2_qSNz_PG_KAN_Q95]
1. (A) 23 (B)

[Option ID = 7377]
2. (B) &= (C)

[Option ID = 7378]
3. (A) @3 (C)

[Option ID = 7379]
4. (C) @& (D)

[Option ID = 7380]

86) wJNVO aingh Brobddrerd3d

el | el |l

A, Ng,F Oabe Jobiid aowch . eadeddoha Ercdd

B. Jus <eb3 0 48 1. riedodsed Bouog ewdddroBe

C. Jogreobdieodrt 38, Jebdr Il BRAB webd, deaeor SenFTIB,
SBoTINWYR

D. B8zuriw V. Geedmehcd

[Question ID = 1846][Question Description = $2_qSNz_PG_KAN_Q96]
1. A-IV,B-1,C-1,D-1I

[Option ID = 7381]
2. A-N,B-1,C-1,D-IV

[Option ID = 7382]
3. A-ILB-N,C-¥,D-1

[Option ID = 7383]
4. A-IV,B-N,C-1,D-1

[Option ID = 7384)]

87) oZInvd aing)th @robdanrban.

el | |

A, dedond |. 53 dmeed

B. &9d Soseded eadyoreo’ 1. Besb aeaad
C. &ox I, e3s8s Dedd,

D. 8 eedo V. 2ddozons rod

[Question ID = 1847][Question Description = 52_q5Nz_PG_KAN_Q97]
1. A-ILB-1,C-1V,D- 1

[Option ID = 7385]
2. A-IV,B-1,C-1,D-1

[Option ID = 7386]
3. A-N,B-1,C-1,D-1IV

[Option ID = 7387]
4. A-1,B-1,C-N,D-1V

[Option ID = 7388]

88) ®edF :
“Sed, Todh,Sab @odI A30hY oW @8 o JBLTY ePmyob ofed @g. Jerd P BN mE Tt IBabdedd dow JBALTS”

w5

TeTclgzeN FeedPHTent JEh N @, 8B 8 Sgascy, I ovdrie waBTerhEod JFOISrHmh Tert aowde JD, NS
st Fadreriefe

[Question ID = 1848][Question Description = 52_qSNz_PG_KAN_Q98]
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Bews R0, JB0E S, [Option (D = 7389] Your Personal Exams Guide
Be9d £0, JE <O [Option ID = 7390]

Be03 3y, 0w I@, [Option ID = 7391]
Be03 3y, I <O [Option ID = 7392]

oW

89) =edB ;

A3ZADS & Beciahd dede rbod Srdwdesdd) Bdab ddry, I, Sriel
STdE;

dedms oo 8d agddriee BATd rHowd a3l sdrie WD) e

[Question ID = 1849][Question Description = 52_q5Nz_PG_KAN_Q99]
1. @e9d 50, ISTw 3, [Option ID = 7393]

2, BB 3w, ISTH 3, [Option 1D = 7394]

3. @edd 3g), IS0 =0 [Option D = 7395)

4., FeHd 10, ITSE O [Option ID = 7396]

90) & SYNIJNYRY, ZowadbmeTmeN HThEd.
A. 2wt

B. chalred

C. £33 832rid

D. w@zen Dow

E. 2308 Zowh 87 tieer’

[Question ID = 1850][Question Description = $2_qSNz_PG_KAN_Q100]
A, B, C, D, E [Option ID = 7397]
B, A, C, D, E [Option ID = 7398]
E, A, B, C, D [Option ID = 7399]
D, C, A, B, E [Option ID = 7400]

1.
i
3;
4,

Topic:- GP38_D3_SH2_SETZ_A

1) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject {Max Marks)

Ctudent Physics Cheristry Math History Computer | Hindi
{100} {(100) {100) (50) Science (50) (50)

A 8O 76 68 40 i6 24

B 90 68 72 42 K} 26

C a5 a1 75 38 32 31

D 75 79 58 28 28 34

E 45 65 62 31 29 28

F 68 72 68 26 14 30

Froft w1 ceergdes iy iz v& oz ey goe w1 vav S
Sl £ wrd mrlt & ves afler F 6 Frenf@fal T 6 sreey - sreeT Riaeil 3 oy By sny aist @t gffior R &

fecawlt @ worses A &Y w1 sisy grder Faae 9 silPresrrsr aiest o e H aner §

e (ARt
Wiffrsl | e REmer | siiE | sfem | weeggs e
feemif &= (50)
{100) {100) {100) | (50 (50)
A 80 76 68 40 36 24
B 90 &8 72 42 38 26
C 85 81 75 38 32 KR |
D 75 79 58 28 28 34
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65

62 3

29 1B

72

68 26

34 30

What is the percentage of total marks obtained by student A?

feeneft A =T gm Row s sa el s Qe e 2 7

[Question ID = 2730][Question Description = $2_qSNz_PG_GP38_Q01]

1. 1

[Option ID = 10917]
2. 74

[Option ID = 10918)]
E

[Option ID = 10919]
4. 72

[Option 1D = 10920]

2) Study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by & students in & different subjects In an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
FPhysics Cherristry Math History Computer | Hindi
Student
{100} (100) (100) (50) Science (5Q) (50)
A 80 76 68 40 i6 24
B 90 68 72 42 K} 26
c 8h 81 75 38 32 31
b 73 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 14 30

AU B e Ui sfiz Ta uT sienfs e O e S

Sl £ wrd mrlt & ves afler F 6 Frenf@fel Tor 6 sreey - sreeT Rl 3 oy By sny aist @ gffior R &

fecawlt @ worses A &Y w1 siwy grdes Fae 9 silPresrrsr aiest o an¥ H aner &

Rrerer (aiftraitres)
iftrbl | oM Rea | =t | s || wewgee fasma
et =8 (50)
(100} (100} {100} | (50} {50}
A B8O 76 b3 40 36 24
B %0 &8 72 42 38 26
C 85 81 75 38 32 KR |
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 63 26 34 30

What is the difference of percentage in the total marks of students D and E?

feznedt D sz E &5 @t sl @ qfvrerT A Fodem s & 7

[Question ID = 2726][Question Description = $2_qSNz_PG_GP38_Q02]

1. 9.28

[Option ID = 10901]
2. 9.68

[Option 1D = 10902)
3. 9.43

[Option ID = 10903]

prepp

Your Personal Exams Guide
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| 4. 9.34

[Option ID = 10904]

3) Study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Hote: The numper in the bracket gives the maximum marks in each subject,

Subject {Max Marks)
Physics Chemistry Math History Computer | Hindi
Student

{100) (100) (100) (50) Science (50)| (50)
A 80 76 68 40 36 24
B 90 &8 72 42 38 26
C a5 a1 75 38 32 31
(] 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

HIZUil w5} emorgper ulew Hi $H U7 AEniET G 1 I G

oita &t = wreolt & o oiten & 6 Feniei e 6 aver - aer B & gm fow o 2T o giftorr B

Rowht | oo A & o 7iwn grdes R # affrrer 2ot & an # wmwn §

Rrerr (aRroiirs)
siftrBl | varm Bem | sftm | sfem | weoars Baw
el B (50)
(100} {100} {100} | (50) (50)
A BO 76 68 40 36 24
B 90 &8 72 42 38 26
C 85 81 75 38 32 31
D 75 75 58 28 28 34
E 45 65 62 31 29 28
F &8 72 68 26 34 a0

What is the average marks of students in Physics, Chemistry, and Math?

sitfives Frsirs, soorrs Rrsoar siiv =1y F fenf2fd oy Higer st oo B 7

[Question ID = 2727][Question Description = S2_qSNz_PG_GP38_Q03]

1. 212.6

[Option ID = 10905]

2. 214.5

[Option ID = 10906]

3. 213.7

[Option ID = 10907]

4, 210.4

[Option ID = 10908]

4) Study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject {Max Marks)

Physics Chemistry Math History | ¢ omputer | Hindi
Student .
{100} {100) (100) (50) Science (B0)| (50)
A 30 76 68 40 36 24
B 90 68 72 42 38 26

prepp

Your Personal Exams Guide
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c 85 81 75 38 32 1 Your Personal Exams Guide
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

HIZUil w51 demorper ulew diF 56 U2 AeniET G i 3 G !
oitd &t = wreolt & o oiten & 6 Peniei e 6 aer - aer B &F g e s 2T o gifterr B §

Rl ovoor # 41 o6 dieen grdos Breg A affrre il @ an A aowo §

Rrerr (afRroiirs)
sifiet | rarew Fraes | sdim | sfers | eswones fasoa
el B (50)
{100} {100} {100) | (50) (50)
A BO 76 68 40 36 24
B 90 &8 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 ¥ 31 29 28
F &8 72 68 26 34 i

Which student obtained maximum marks?
forar Forenelf 3 siffrasaon sics g e 7

[Question ID = 2728][Question Description = S2_qSNz_PG_GP38_Q04]
1. A

[Option 1D = 10309]
2. B

[Option ID = 10910]
3. C

[Option ID = 10911]
4, D

[Option ID = 10912]

5) Study the given table carefully and answer the question that follows :
The following table gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Hote: The number in the bracket gives the maximum marks in each subject,

Subject {Max Marks)
Physics Chemistry Math History Computer | Hindi
Student

{100} (100) (100) (50) Science (50)| (50)
A 80 76 68 40 36 24
B 9 68 72 42 38 26
C a5 a1 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

Frzoft w61 ceaergdes ulgy iz va oz ey goer w1 vav S
oitd &t 7 wreolt & o ailen & 6 FPeniei e 6 aver - aer R & g fow o 2 o gifterr B §

Rowht | oo A & o 7iwn grds RBreaer # aftrrer 2ot @ an # wown §

forerer (ARrTRRD)
I [ | I ]
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(100) (100) (100) | (50) (50)
A 80 76 68 40 36 24
B a0 68 72 42 38 26
C 85 21 75 38 32 Ed |
D 75 79 58 | 28 28 34
E 45 G5 62 3 29 28
F &8 72 68 26 34 30

Find out the number of students who obtained more than or equal to 60% marks in all subjects?
o1 ReniRf o5 sieen oy S feesier ol o #& 60% m s= alfme e grm s ?

[Question ID = 2729][Question Description = $2_qSNz_PG_GP38_Q05]
1. 4

[Option ID = 10913]
2. 3

[Option ID = 10914]
Fil

[Option ID = 10915]
4, 1

[Option ID = 10916]

Topic:- GP38_D3_SH2Z_SETZ_B

1) The theory of Zone of Proximal Development was proposed by :
Faftorer Riesra @ Siiar @ Rigia o e pa gfrafRa B sren ?

[Question ID = 2731][Question Description = $2_qSNz_PG_GP38_Q06]
1. Piaget/frr

[Option ID = 10921]
2. Freud/mm=

[Option ID = 10922]
3. Vyootsky/areieenbt

[Option ID = 10923]
4. Bloom/=gn

[Option 1D = 10924]

2) In libraries, the process of digitization began with services in the following order :
A. Periodicals and large reference works

B. Cataloguing services

C. Periodical indexing and abstracting services

D. Book publishing

Choose the correct answer from the options given below :

gl 4 Rba Fanal & arer g glel &1 Bl &1 gitpar o1 foeefifian oa & ¢
A, smalire gl A1z ged e aml o

B. =it somor bt Jart

C. amaftre aférn serEHEsT gotre 3T AR A

D. gra® @1 Ymi9ial

oflal 1w a1v taascal 3 31 7é sre @1 aga bifae

[Question ID = 2732][Question Description = 52_qSNz_PG_GP38_Q07]
1. A, B, C,D,

[Option ID = 10925]
2. B,C,A,D

[Option ID = 10926]
3. C,B, D, A
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[Option ID = 10927] Your Personal Exams Guide
4, D, A B, C

[Option ID = 10928]

3) Given below are two statements ;

Statement I: Short-term memory encompasses encoding and short-term storage and manipulation,
Statement |l: Short-term memory has a limited capacity.

In light of the above statements, choose the most appropriate answer from the options given below
ofidr <1 erer fEw s & ¢

e - | Acudliers TR aedg oo AT HCUDIA®D SR iz s - s St fgar @1 onfie oxdl 3

@ - || ; srcusiferes Tafa o Hifda s il 2

IWRip el & Alcd 3, offa v s fawmeal 3 31 T2 IUPED 32 O a’le DIl |

[Question ID = 2733][Question Description = 52_q5Nz_PG_GP38_Q08]
1. Both Statement | and Statement |l are correct /asem | iz || St =28 £

[Option ID = 10929]
2. Both Statement | and Statement [l are incorrect/wem | 4% || ciEi sew &

[Option ID = 10930]
3. Statement | is correct but Statement Il is incorrect/wem | a8 &, fiveg e || 7mma 2

[Option ID = 10931]
4. Statement | is incorrect but Statement [l is correct/wem | #raa &, freg wem |l w2t &

[Option ID = 10932]

4) Which tools will you use to prepare schedules and class time tables?
A. Microsoft Qutlook

B. Trello

C. Google Calendar

D. Tally

E. Koha

Choose the correct answer from the options given below:
Rkl 307 wen FIR - FRvil ot R W W g wiv A girval o sust oie ?
A. IsmIET snEegar

B. tet

C. P dHovse

D. &t

E. ®lar

il f8u o1 Rrpoul A 31 w18t 30 @1 ags ik

[Question ID = 2734][Question Description = S2_qSNz_PG_GP38_Q09]
1. A, Band C only/@am A, Bafiz C

[Option ID = 10933)]
2. B,Cand Donly/@mm B, Cafiz D

[Option ID = 10934]
3. C,DandEonly/@a=m C, DR E

[Option ID = 10935]
4. A, Cand Eonly/@am A, C3i E

[Option ID = 10936]

5) Match List | with List Il

List | List Il

Model of Teaching Developer

4. Positive interdependence I. Robert Slavin
B. Structured inquiry Il. Fannie Shaftel
C. Group investigation lll. Roger Johnson
[, Role playing I¥. John Dewey
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Choose the correct answer from the options given below:

It | Y Tt Il A e i ;

et -1 ekt -1

{FzmoT Fiiser) [ ot ot Rigre)
A, FoEEaET e Bnlwn |I. = FentEe

B. FiafrT geo . gt gifreer

. THE Ae<ay . = stierre

D. sifirest Fordam |I".|". sitor Faedt

sl By w0y Fravedt 3 3 wdl way gt

[Question ID = 2735][Question Description = S2_qSNz_PG_GP38_Q10]
1. A-lI,B-1,C-Iv¥,D-N

[Option ID = 10937]
2, A-l,B-I¥,C-1,D-lNI

[Option ID = 10938]
3. A-IV,B-Il,C-NIl,D-l

[Option ID = 10939]
4. A-11,B-1,C-1,D-I¥

[Option ID = 10940]

6) Which one of the following is a non-parametric statistic?
foraifartiaa 3 2 @ia ue 31z - yraftrs Aificadt 3 7

[Question ID = 2736][Question Description = S2_qSNz_PG_GP38_Q11]
1. F- statistic/F - Hifim=rst

[Option ID = 10941]
2. T - statistic/t - soid=rdst

[Option ID = 10942]
3. Pearson's correlation /diesfa =1 3=- Hdu

[Option ID = 10943]
4, Spearman’s correlation/wi-o#ier on =5 - g

[Option 1D = 10944]

7) Given below are two statements :

Statement I: Use of multivariate statistics in social research has increased due to the availability of statistical software.
Statement Il: Multivariate statistics are easier to comprehend as compared to the bi-variate statistics.

In light of the above statements, choose the correct answer from the options given below :

ofl &t west Re sre 3 ¢

werot - | 1 wenfres sepsener # asar Al o sorier Aifisrdta arecds B yaostar © oRer a6 S 8

wwerot - || @ agar wifsadt, o ailsrdt 3 goon # wwser § s 3

IRdte Wl @ aiells #, o n o1 Rpedl 3 A A8 s ©! ags Hifm

[Question ID = 2737][Question Description = S2_qSNz_PG_GP38_Q12]

1. Both Statement | and Statement |l are true/oem | iz | St e &

[Option ID = 10945]
2. Both Statement | and Statement [l are false/mam | 8 1 S50 a0 &

[Option ID = 10946]
3. Statement [ is true but Statement Il is false/wem | 7 £, Rreg e || s 2

[Option ID = 10947]
4. Statement | is false but Statement Il is true/mee | sera 8, Reeg wemt || o 2

[Option ID = 10948]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The value of correlation coefficient is in the range of -1 to +1,

Reason R : Correlation between two variables doesn’t help in predicting the value of a variable even if we know the value
of another variable.
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In light of the above statements, choose the correct answer from the options given below Your Personal Exams Guide
ofta €t werer Ru 1w B 1 wes Afdrsest (Assertion A) @ =a 3 iz gz 3@ vt (Reason R) S wa 3 :

sifimerot (A) : sAgwider SuIkD @ 3t -1 A +1 DA S da A A 3

vl (R) : e of o=l o Fssder A Wb o3 & A 1 YaioArs e 4 W Jernt aidl Bl 3, af? s# g o @ @ uar si 3t

FRITG WUl @ AeRe #, o By froedl # 3 318 30 @1 waa Gif .

[Question ID = 2738][Question Description = S2_qSNz_PG_GP38_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) 4z (R) =i wg £ 8= (R), (A) & =t e &

[Option ID = 10949]
2. Both A and R are true but R is NOT the correct explanation of A/{A} iz (R) 2l 3w & uweg (R), (A) & 98 =rxe=n ol 2

[Option ID = 10950]
3. Ais true but R is false/{A) =1 & wog (R) amww &

[Option ID = 10951]
4. Ais false but R is true/ (A} e & useg (R) e 2

[Option ID = 10952]

9) Focus groups as a technique is especially valuable in which of the following scenarios?
A. When the researcher has perfect clarity about the research,

B. For obtaining general background about the topic or issue,

C. For interpreting previously obtained quantitative results.

D. When the researcher is interested in establishing a causal relationship between two variables,
E. For generating a level of understanding about influences in the participants’ world.
Choose the correct answer from the options given below:

forraifertian ufizedl # v amoiid @ =0 # DI HPE a9 u 3 Iupl 2 :

A, S/ oierpdl @t 9iter @ A 3 gdsuon Tusedn &

B. diftre arerar 312 @ Ak 3 AT YT s oIl

C. gd 3 g fpu a1 aframwnras uftomil &t sarsn e

D. o eftercnaf 2 a3t & & SRS Hdtll ©f Tenfira ot B zea1 3 8

E. giérmeil giora 3 garrdi o an: # 319E @1 Ta12 Icool Dol

ol 12w a1v taaseal 3 31 7ét sre @1 aga bifae

[Question ID = 2739][Question Description = 52_qSNz_PG_GP38_Q14]
1. A,Band Donly/grmm A, Bz D

[Option ID = 10953]
2. B,Cand Eonly/@aa B, C sl E

[Option 1D = 10954)]
3. B,Dand Eonly/a@ma B, D iz E

[Option ID = 10955]
4, C,DandEonly/dae C, DdRE

[Option ID = 10956]

10) Match List | with List Il

List | ist 1l

Statistical Termleescription

A. Nominal I. Spread in values of datal
B. Ordinal Il. Expected value

C. Mean Il. Ranking

D. Variance ll"u". Categorization

Choose the correct answer from the options given below:

I -l Y el -1l 3 A e

et -l ryedt -l

(Fitirdt ug) (avtaT)

A, =TI l. e @& AE 3 Baea
B, mfin I, grentdm wra

C. dizw NI, e

D, gzram IV, Fusifkoan
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ot 2w o Rryedl & 3 w48 ome gn ¢

[Question ID = 2740][Question Description = $2_qSNz_PG_GP38_Q15]
fiodoalla BV Call), s Dl

[Option ID = 10957]
2. A-IV,B-Il,C-ll,D-l

[Option ID = 10958]
3. A-I1,B-1,C-IV,D-I

[Option ID = 10959]
4, A-l,B-ll,C-Iv,D-N

[Option ID = 10960]

11) In non-verbal communication, 'Chronemics’ refers to:
s-onfgw Aquor i "gofan’ Road Adftem 8 ?

[Question ID = 2741][Question Description = $2_qSNz_PG_GP38_Q16]
1. Time/zsm

[Option 1D = 10961]
2. Place/zena

[Option ID = 10962)]
3. Space/ oo

[Option 1D = 10963]
4. Person/eake

[Option ID = 10964)]

12) In communication, semantic barrier refers to :
HdAqaur #, omered men Row ddffa 8 7

[Question ID = 2742][Question Description = S2_qSNz_PG_GP38_Q17]
1. Denotative meaning/gz=msl

[Option ID = 10965]
2. Varied connotations /e sgeere!

[Option ID = 10966]
3. Truth/==

[Option ID = 10967]
4. Singular meaning/weem asf aen

[Option ID = 10968]

13) A leave application from a clerk to the principal of the institution, is an example of ;
b HrelTd B YLroirr] @1 o It 31 g sammt o1 Yrelanadg fosa Ayuvr o st & 7

[Question ID = 2743][Question Description = 52_qSNz_PG_GP38_Q18]
1. Downward communication/arefrg=ft o

[Option ID = 10969]
2. Upward communication/zeda=it Ftmer

[Option ID = 10970]
3. Horizontal communication/giffrer s

[Option ID = 10971]
4, General communication/ AmEmeT H0E

[Option ID = 10972]

prepp

Your Personal Exams Guide

14) In which one of the following types of communication, the client initiates a transaction by requesting information from

a server?
HAYQUT B A PR # 9 W A FEen YId B0l D #@ieT TR Aarel FACasR gy wI §

[Question ID = 2744][Question Description = S2_qSNz_PG_GP38_Q19]
1. Education Technology/Biam gishws:

[Option ID = 10973]
2. Pull Technology/gm gi=nlErh

[Option ID = 10974]
3. Ancient Technology/Teher gi=iErEt

[Option ID = 10975]
4. Push Technology/gyr gief3rbt

[Option ID = 10976]
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15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R Your Personal Exams Guide
Assertion A: Being judgemental on the part of a teacher is a barrier to communication.

Reason R: For effective learning outcomes, the teacher should expose the ignorance of students.

In light of the above statements, choose the correct answer from the options given below :

i) o1 et Bw a0 & | wep afswperar (Assertion A) @ wu # iz g1 33 orw (Reason R) S wa & &

sificperst (A) : ferr B dow J = Te dor FAYuv B oo aen

wrvL (R) : P st uims @ e fiere ©f fenlRR & s©a ot g awon afee

FRITG WUl & AeRe #, oI By Rroedl # 3 318 30 @1 wa G .

[Question ID = 2745][Question Description = S2_qSNz_PG_GP38_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 4z (R) &= =1 £ 8= (R), (A) & =t e &

[Option ID = 10977]
2. Both A and R are true but R is NOT the correct explanation of A/(A)} iz (R) 2l 3m 2 aweg (R), (A) & 38 =rx=n ol 2

[Option ID = 10978]
3. Afs true but R is false/{A) =1 &, wog (R) s &

[Option ID = 10979]
4. Ais false but R is true/(A) aor= &, woog (R) = 2

[Option ID = 10980]

16) In the series 358, 364, 370, _ _ _ , what will be the 12 term?
gjzac 358, 364, 370, - - -, # 12 ai ug o 850 ?

[Question ID = 2746][Question Description = $2_qSNz_PG_GP38_Q21]
1. 420

[Option ID = 10981]
2. 424

[Option ID = 10982]
3. 423

[Option ID = 10983]
4, 432

[Option ID = 10984]

17) Given below are two statements :

Statement I: An item is sold for 145 at a loss of 20%. The cost price of the item is T185.
Statement |l: The average of first 30 natural numbers is 15.5.

In light of the above statements, choose the correct answer from the options given below
ofl & west Re sre 3 ¢

weret - | : wa awg 20% & 5ifs 03 145 =, d < onelt 3 oo o ama wea 185 %, 8

werat - 1| 1 gera 30 grasfres Fwensit o siaa 15.5 aar

Rl wuell @ aers #, oA Re oo Rroseal 3 91 718 se w1 o=rar $ife

[Question ID = 2747][Question Description = $2_qSNz_PG_GP38_Q22]
1. Both Statement | and Statement |l are true/mem [ Sz 1l SEf = £

[Option 1D = 10985]
2. Both Statement | and Statement |l are false /oo | &7 1| St amr &

[Option ID = 10986]
3. Statement [ is true but Statement Il is false/wem | e £, freg oo | w2

[Option ID = 10987]
4. Statement | is false but Statement Il is true/meet | sera 8, Reeg wemt || o 2

[Option 1D = 10988)]

18) Consider the following fractions:
A. 11117

B. 5/6

C. 2/3

D. 4/11

E. 6/11
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Choose the correct answer from the options given below Your Personal Exams Guide
foremter¥e fiyeail a7 Rrane &ifsne :

A, 11/17

B. 5/6

C. 2/3

D. 4/11

E. 6/11

foreafeifiad di wiel A 9o g3 AL 3HpGA & 7

[Question ID = 2748][Question Description = S2_qSNz_PG_GP38_Q23]
1. D<E<A<C=<B

[Option ID = 10989]
2. D<A<E=<B=(

[Option ID = 10990]
3. D<B<C=E=A

[Option ID = 10991]
4 A=<=D=C=<B<E

[Option ID = 10992]

19) The angle made by the minute hand of a clock while moving from 3:45 pm to 6pm is ;
uh giel '3l d T & gF oI araerg 3:45 |9 3 Ausig 6 ot ol 2 Sid FHARI S6liRN Siiol dic IV GBIl & |

[Question ID = 2749][Question Description = $2_qSNz_PG_GP38_Q24]
1. 540°

[Option ID = 10993]
2. 740°

[Option ID = 10994]
3. 810°

[Option ID = 10995]
4, 510°

[Option ID = 10996]

20) Four bells begin to toll together and then tell at intervals of 3, 5, 7 and 10 seconds respectively. They will toll together
next after :

AR sl o W1 TS gy akit § 3T e 4 wprer: 3, 5, 7 iz 10 Acbvs @ dicwa w2 ekl @ amaw 3 v A1 gor: Reaa Aabus ag
gl 7

[Question ID = 2750][Question Description = 52_qSNz_PG_GP38_Q25]
1. 840 seconds/840 Igwe

[Option ID = 10997]
2. 480 seconds/480 #dug

[Option ID = 10998]
3. 210 seconds/210 3Igve

[Option ID = 10999]
4. 240 seconds/240 #dog

[Option ID = 11000]

21) Which of the following statements correctly apply to inductive arguments?
A. They are neither conclusively valid nor invalid.

B. Adding new premises makes no difference to the argument.

C. Adding new premises may strengthen/weaken the argument.

D. Conclusion follows from premises with absolute necessity.

Choose the correct answer from the options given below:

IPHARAT oarrEl U BuofoRaa # 3 oia 3 wea a8 aid A aELaa 8 ?
A. a & ot siffmr a3 Ge § iz o8t alda 3

B. si¢ snenarad w1 o @6l 3 TROAIRI UF ®Is YT oI8] USdl &

C. 51T JMILIRARE © 90T @l A MROURRI ARG / gl 8 IRpar 8

D. PRzl snaeRea arKl eRarrT A Biwod Breon
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[Question ID = 2751][Question Description = $2_qSNz_PG_GP38_Q26]
1. Aand Donly/sag Adz D

[Option ID = 11001]
2. Aand C only/@ad A 4z C

[Option ID = 11002]
3. BandDonly/asm Bz D

[Option ID = 11003]
4. Aand B only/@aa Az B

[Option ID = 11004]

22) Match List | with List Il

List | List Il

In Square of opposition Resultant propositions

4, If 'No stars are Dull’ is True I. 'E' and 'I' are Undetermined
B. If 'some flowers are fragrant’ is True Il. 'E’ is False and 'I' is True

C. If 'All sweets are sugary' is True lll, "A’ and 'Q" are Undetermined
D. If 'some animals are not mammals® is TruallV. "A' is False; "0 is True

Choose the correct answer from the options given below:

It | Y I -l A e i ;

=it -1 ayedt -1

(Rrarer - smpza 9t ) (oTroIRl semear}

A, afd "w1E oy wiftdter ol B oaea ® I. "E" iz "I aifoafm B

B. a2 "o oo ErEn § A § I.'Eysea g iz " ra &
C. =i "zl Rrowai At oelt € mea & ll. "A' 3= 'O el &

D. af ‘a5 sweras FeEmh 1 E aea & V. 'A' wea &, $fiz "0 zea 3

oitd 2w o Rrywedl # 3 w48 omw g ¢

[Question ID = 2752][Question Description = $2_qSNz_PG_GP38_Q27]
1. A-IV,B-I1,C-Il,D-l

[Option ID = 11005]
2. A-l,B-Il,C-IV,D-l

[Option ID = 11006]
3. A-Il,B-IV,C-l,D-

[Option ID = 11007]
4, A-l,B-Il,C-Nl,D-IV

[Option ID = 11008]

23) ldentify the fallacy committed in the argument.

All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women.
TH Trrarae A 19 W A

15ft gy st Afden w1 Fae ¥ @ dvaa: gss afr A E

Foft Fisra: oo aftr afifin &8 ot 818 ¥

vaftre, oo sdifha &d ar gea & gea ¥ st afder o masa ¥

[Question ID = 2753][Question Description = $2_qSNz_PG_GP38_Q28]
1. Fallacy of Illicit Major/smmg - #An - S

[Option ID = 11009]
2. Fallacy of Illicit Minor/ = - gay - 3w

[Option ID = 11010]
3. Existential fallacy/afrralier - S

[Option ID = 11011]
4. Fallacy of Undistributed Middle/smmH - &3 - g

[Option ID = 11012]

24) In the Nyaya system, what is an inference called when it is based in its middle term being only positively related to the

major term?

sarr frgra #, dae wen a5 A e wa Hd Al 151 3 HepATer O g Wl SN B 51 75 $ud 3 95 9w snenfya dar B
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[Question ID = 2754][Question Description = $2_qSNz_PG_GP38_Q29] Your Personal Exams Guide
1. Kevatarvayi/®ooseit

[Option ID = 11013]
2. Kevala-vyatireki/@am - =it

[Option ID = 11014]
3. Anvaya-vyatireki/smren - sffrebt

[Option ID = 11015]
4, Vyatirekanvayi/=fiooah

[Option ID = 11016]

25) Given below are two statements :

Statement I: In the Nyaya system of inference, the major term (sadhya) can exist without the middle term (hetu).
Statement l: According to the Nyaya system, the middle term (hetu) cannot exist without the major term (sadhya).
In light of the above statements, choose the correct answer from the options given below

oIk g el fow s &

el - | | e & s RBagia d e - us 2q - U @ e sifivcaare & aoen &
weord - || ;v frgia & aganR 2g-ue aea-ug & R afiacaars a8t  aom &
ITe DuEl & Acls A, ol v 716 [aocal d 3 Jdl 3az @ aga $ifag ¢

[Question ID = 2755][Question Description = $2_qSNz_PG_GP38_Q30]
1. Both Statement | and Statement 1| are true /@@ | &z || Seif =g &

[Option ID = 11017]
2. Both Statement | and Statement [l are false/usem | & 1| el sexea 3

[Option ID = 11018]
3. Statement | is true but Statement Il is false/wam | wra &, Feog wem || oewa 2

[Option ID = 11019]
4, Statement | is false but Statement Il is true/wem | spw &, Fyeg wem || o &

[Option ID = 11020]

26) Bluetooth is :

g i

[Question ID = 2756][Question Description = $2_qSNz_PG_GP38_Q31]
1. Wireless LAN protocol/arenes wr v o= giorsia

[Option 1D = 11021]
2. Short-range data transmission protocol /T 33 Ser YRR Jicksic

[Option ID = 11022]
3. Interoperability protacol /amrr gerest gicioio

[Option ID = 11023]
4. Peer-to-peer networking protocol/erpet (dem) 21 sl (dve) sicafider Jevsie

[Option ID = 11024]

27) What is Pixel density?
Rrada aeca qar & ?

[Question ID = 2757][Question Description = S2_qSNz_PG_GP38_Q32]
1. Number of pixels per column and per row on a monitor /e #ielles v g wicm AR gRT dRe Kedes & dx=n

[Option ID = 11025]
2. Number of pixels per square centimetre/gftms] Jdiicz Madcw & Jwn

[Option ID = 11026]
3. Number of pixels that make up an image /firrae @t Fzn it fr frg 0 gmmae 3 g 8t

[Option ID = 11027]
4. Number of horizontal and vertical pixels that make up a screen display/ §iftm iz Feafas fedea £ dw= & 5 Tgia e £ aomae F gg7p 2

[Option ID = 11028]

28) Given below are two statements: regarding the JPEG file (Joint Photographic Experts Group) :
Statement I: JPEG files use a lossy format file compression method.
Statement |I: JPEG is used to store photographs as a reduced file size,

In light of the above statements, choose the correct answer from the options given below



WWW.prepp.in

JPEG (sare wideibe ganud 3gz) & an 3 i I oue Ru sy 3

@eel - | 1 JPEG wizew 3 gifsia gideu wisd ddiza faftn o1 su=er g &

et - Il @ JPEG @1 3ueiieT oA oy 310 Bisd AIer & 30 3§ BIAIRK) ®f 7536 & 2iar 8
s Duell @ e 3, ¢i o 31w faascal 3f 3 wdt anz oI @6 Bifaw

[Question ID = 2758][Question Description = 52_qSNz_PG_GP38_Q33]
1. Both Statement | and Statement 1| are true /e | &z | S a0 &

[Option ID = 11029]
2. Both Statement | and Statement Il are false/wem | A || il sera 3

[Option ID = 11030]
3. Statement | is true but Statement Il is false/wem | 3= &, fseg T || o 3

[Option ID = 11031]
4, Statement | is false but Statement Il is true/mem | 3= 2, Breg wee || I 2

[Option ID = 11032]

29) Which of the following statements are correct regarding Random Access Memory (RAM)?
A. It is an internal chip where data is temporarily stored

B. It stores the part of operating system currently in use

C. It is used to store the BIOS

D. It is noen-volatile memory

Choose the correct answer from the options given below:

IusH UaHA AN (317 © uH) @ AR # Reelilaa ©o e § A8l e ®! g ¢
A. B v ardfwe R 2t & Bl s @t srarit wu A sisiliya Roen sor &

B. @g ariamet & 3u=i=1 B 33 srRidsT Rivca @ y1e1 Wl 81 e 3

C. oot Fu=et il and 3l G @ SR 3g A &

D. uE 31z - dlushia (dicarrse) Al &

ol f8u a1e Rrpedl d 31 718t 3 @1 ags &l

[Question ID = 2759][Question Description = S2_qSNz_PG_GP38_Q34]
1. A, Band C only/dsaa A, Bafiz C

[Option ID = 11033]
2. CandDonly/@am C sfiz D

[Option ID = 11034]
3. Aand Bonly/sam A4 B

[Option ID = 11035]
4, A, CandDonly/@ae A, Caz D

[Option ID = 11036]

30) Match List | with List Il

List | JList 1

Type of Software |Examp[e

A. Word Processor |I. Mac

B. Database li. Open-office

C. Operating system |IIL Dracle
D. Utilities v, Anti-virus

Choose the correct answer from the options given below:

et | 1 et -1l A e BB ;

oyt | it -l
(FHiTreirE @ o) (SeTE)

A. o gidee l. oo u 2ht

B. sreran [I. a5t - sl
C. digsfesr Gea I, atermer

[ I s IV. w7l - arred

o) i o et & 3 =t 3wz gfens ;

[Question ID = 2760][Question Description = $2_qSNz_PG_GP38_Q35]
1. A-l,B-ll,C-lll,D-IV

[Option ID = 11037]

prepp
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| 2. A-lIL, B, C-l, DIV Your Personal Exams Guide

[Option ID = 11038]
3. A-I,B-II,C-1,D-I¥

[Option ID = 11039]
4. A-IV,B-IN,C-1,D-l

[Option ID = 11040]

31) India’s national-level forest policy dates back to ;
TFe Bt IR Faz &l aa sl o Tl fererfzor oa o1 87

[Question ID = 2761][Question Description = 52_qSNz_PG_GP38_Q36]
1. 1894

[Option ID = 11041]
2, 1952

[Option ID = 11042]
3. 1988

[Option ID = 11043]
4, 1994

[Option ID = 11044]

32) Given below are two statements :

Statement I: Amorphous silicon is highly light absorbing material,

Statement |l: Amorphous silicon is not suitable material for solar cell development due to its non-crystal properties
In light of the above statements, choose the correct answer from the options given below

ofld &t west Re srw 3 ¢

aseret - | 1 sfdsreeltr Rafersior o ¥av oF gavrer seiaw sl ¥

werat - 1| 1 afdgeediia Bitwdiar s 31y - Rgyea sporert @5 wron Az da © Reom © Rig sogo aee) oft 3

R wuell @ aers #, A Ry oo Rroseal 3 91 718 s w1 o $ife

[Question ID = 2762][Question Description = $2_qSNz_PG_GP38_Q37]
1. Both Statement | and Statement |l are true/gem | Szl SEf = £

[Option ID = 11045]
2. Both Statement | and Statement |l are false/em | 37 || 36 s &

[Option ID = 11046]
3. Statement [ is true but Statement Il is false/fwem | e &, freg oo | apme &

[Option ID = 11047]
4. Statement | is false but Statement Il is true/mee | sera 8, Reeg wemt || ara 8

[Option ID = 11048]

33) Which one of the following has, both positive and negative radiative forcing in the climate?
forroifeil¥aa A A ®ia A oo 9 SIoar] (Fonsdc) A e 37 YRk el 33Aaeikea aa urR ST & ?

[Question ID = 2763][Question Description = $2_qSNz_PG_GP38_Q38]
1. CQz (Carbon dioxide)/CO; (THa 38 srmmEs)

[Option ID = 11049]
2. CHy (Methane)/CHy (a8

[Option ID = 11050]
3. NOz (Nitrogen dioxide)/NQ; (cregrem s sfanss)

[Option ID = 11051]
4. O3 (Ozone) /0y (siier)

[Option ID = 11052]

34) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Lockdown in 2020 in India was imposed under the Disaster Management Act

Reason R: COVID 19 is the first pan-India biological disaster being handled under the Disaster Management Act
In light of the above statements, choose the correct answer from the options given below :

ofiA <) weel Ru s & ;. ues aifdrsee (Assertion A) @ wu 3 3iiz g1 33@ @reor (Reason R) @ =a 3 ©

afirperet (A) © weda 3 2020 3 disseet suer yders affiforma & siasla e s1ar o1

@101 (R) : amuct yaerer aftiforma & aiasfa el suor arch oifds - 19 gepr Figef wra w1z 6 Sifaes smoer 2
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IO waeEl OF selkr #, ik Ry Rrereal # 3 18t 3a3 w1 owor Hifse Your Personal Exams Guide

[Question ID = 2764][Question Description = $2_qSNz_PG_GP38_Q39]
1. Both A and R are true and R is the correct explanation of A/(A) 4z (R) =i g £ 8= (R), (A) & =t e &

[Option ID = 11053]
2. Both A and R are true but R is NOT the correct explanation of A/{A} iz (R) 2l 3w & uweg (R), (A) & 98 =rxe=n ol 2

[Option ID = 11054]
3. Aldstrue but R s false/(A) = &, o=ty (R) smrar &

[Option ID = 11055]
4. Ais false but R is true/(A) sera 8, weog (R) o7/ &

[Option ID = 11056]

35) The faintest detectable noise by a healthy human ear is of :
Ue TAzel Al @ ldl Bl SivRTH Faz U2 oo Uiel drclt siarst oo 3haa & aidt & ?

[Question ID = 2765][Question Description = $2_qSNz_PG_GP38_Q40]
1. 0dB

[Option ID = 11057]
2. 1dB

[Option ID = 11058]
3. 10 dB

[Option ID = 11059]
4, 20de

[Option ID = 11060]

36) The time gap between two sessions of the Parliament should not exceed ;
Hag @ A Al & da JRT aeasrda s aiftres ol dlen anf2e ;

[Question ID = 2766][Question Description = 52_qSNz_PG_GP38_Q41]
1. 3 months/3 wdler

[Option ID = 11061]
2. 5 months/5 #dist

[Option ID = 11062]
3. 6 months/6 =gder

[Option ID = 11063]
4. 12 months/ 12 =5

[Option 1D = 11064]

37) Uin AYUSH stands for :
R (o ard g oa ca) d U weElta 8

[Question ID = 2767][Question Description = $2_qSNz_PG_GP38_Q42]
1. Urban/adm

[Option ID = 11065]
2. Universal/gfémso

[Option ID = 11066]
3. University/gemtid

[Option ID = 11067]
4. Unani/getweit

[Option ID = 11068]

38) Inter University Board set up in 1928 to promote University activities by sharing information and co-operation in the
field of education, culture, sports and allied areas is now known as :

afcz - farafenca @13 @ 31561 1928 3 Siorerdt Aren S iz g, Azl ¥ iz R aegl @ Fee g Reafdencerr o sifafafRedl
Bl YIrHleal ool & Ko srn 534 o [Rse1 oner 31 simon s & 7

[Question ID = 2768][Question Description = S2_qSNz_PG_GP38_Q43]
1. Association of Indian Universities/smxi= Frakerem 3=

[Option ID = 11069]
2. Central Board of Secondary Educators/@g sreafhs firen 2

[Option ID = 11070]
3. Central Advisory Board on Education/®<a fnr mrsar 4

[Option ID = 11071]
4. University Grants Commission/Reaftense agem 206

[Option ID = 11072]
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39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Government is preparing high quality bilingual textbooks and teaching-learning material for science and
mathematics to enable students to think and speak about the two subjects in their home-language/mother tongue and in
English,

Reason R: Government should promote all regional languages

In light of the above statements, choose the most appropriate answer from the options given below :

i 3 ool Ru s & ;. wes aifdrsee (Assertion A) @ wu 3 3z g1 33@ @reor (Reason R) S =a 3 ©

sifireserar (A) @ Tz Soa syoraar arch Rt arge grad i fysnar sy st © Rre figor safem mms] o Brafer wea 35 3 B o
Femdt Sl st @ ar # sraoht Famefier s / awgsirar siiz 3iE)GEh sman 3 Fe siiz ool disa 3t JI @

@l (R) : sewr w798 Adle swrursii @ Qiveniza ween @ide
IRRG WG] B ICRD #, sk By oodl 3 31 38t 303 o1 o= Hifse

[Question ID = 2769][Question Description = S2_qSNz_PG_GP38_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) S5 2 & Jfe (R), (A) © = oomeen &

[Option ID = 11073]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) i (R) o= =2t & wemg (R), (A) 5 a2t =mecm =t 2

[Option ID = 11074]
3. Ais correct but R is not correct/(A) 71t £ ueeg (R) =t =i &

[Option ID = 11075)
4. Ais not correct but R is correct/{A) 3t w2 8 wiag (R) = 2

[Option ID = 11076]

40) Given below are two statements :
Statement I: Values are an enduring belief about the way things should be done or about the ends we desire

Statement Il: The values we form are influenced by our circumstances families, friends, age, gender, environment,
tradition and culture

In light of the above statements, choose the most appropriate answer from the options given below :

oifl < e Ru s e 3 &

werd - | 1 Jew dieil @) Rear wa 3 R suen @ffe 3o an 3 aremn qifdva s2edl @ an 3 o Fardt am 3

wad - || : Fie geal w1 Reivr &0 e 8 3 ol ubsBakrll, ufarl, Bl S5, Rien, giaeen, wsuer i Fiwpit A pofia 3a 8
IRITe el & el 3, ik 6w oo Ripedl 3 A 318 32 ©1 o=@ $ifom ©

[Question ID = 2770][Question Description = S2_qSNz_PG_GP38_Q45]
1. Both Statement | and Statement [l are correct/mem | A= || Sl et &

[Option ID = 11077]
2. Both Statement | and Statement [l are incorrect/mam | iy 1] 39 aimm £

[Option ID = 11078]
3. Statement | is correct but Statement Il is incorrect/wem | = 2, frog oo || =em &

[Option ID = 11079]
4. Statement | is incorrect but Statement [l is correct/wam | srem 8, freg e || =4 8

[Option ID = 11080]

Topic:- GP38_D3_SH2_SET2_C

1) Read the given passage and answer the following question,

There are three main groups of oils; animal, vegetable, and mineral, Great quantities of animal oil come from whales, those enormous creatures of the sea
which are the largest remaining animals in the world. To protect the whale from the celd of the Arctic seas, nature has provided it with a thick covering of
fat called blubber. When the whale is killed, the blubber is stripped off and boiled down. It produces a great quantity of oil which can be made into food
for human consumption. A few other creatures yield &il, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick

children and other invalids who need certain vitamins.

Yegetable's oil has been known from antiquity. No household can get on without it, for it is used tn cooking. Perfumes may be made from the oils of

certain flowers, Soaps are made from vegetable and animal oils,

To the ordinary man, one kind of oil may be as important as another, But when the pelitician or the engineer refers to oil s/he almost always means
mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel locomotives: the oil that s used to lubricate all kinds of machinery.
This is the oil that has changed the life of the common man. When it is refined into petrol, it is used te drive the internal combustion engine. To it, we
owe the existence of motor car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some ways, it is superior to



WWW.prepp.in .repp

coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is used for illumination; countless homey arg ptitddlhupivatelExams Guide

with oil-burning lamps. Because it is very slippery, it is used for lubrication,
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Yegetable oil is/was :
ool Ao & s 9

[Question ID = 2771][Question Description = S2_qSNz_PG_GP38_Q46]
1. Known to people since ages/ =it 1 370 A wn &

[Option ID = 11081]
2. Unknown in ancient times/qeiie as@r # s= &1

[Option ID = 11082]
3. Known anly in the old days /e yreitor zew # & wo en

[Option ID = 11083]
4. Known only to old people/daa guer &l &1 & aor 2

[Option ID = 11084]

2) Read the given passage and answer the following question,

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins,

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking, Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kKind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery, This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This Kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect, Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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According to the author, whales are:
ATED O IR, TAE £

[Question ID = 2772][Question Description = $2_qSNz_PG_GP38_Q47]
1. The largest animals that have ever lived in the world /s =3 = swoms o fra F 23w A ad = 2

[Option ID = 11085]

2. The largest animal living in contemporary times/srorta wm # SRk e w=l orows 2
[Option ID = 11086]

3. The largest reptile/m3t w3t IRRM

[Option ID = 11087]
4, The largest animal living in Caspian Sea/Shwre apr # e w3 o= sore

[Option ID = 11088]

3) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s o0il has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one Kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man, When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air, This kind of oil comes out of the earth, Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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Which one of the following is NOT one of the three main purposes for which mineral il is used?
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[Question ID = 2773][Question Description = $2_qSNz_PG_GP38_Q48]
1. For lighting/ getus < e

[Option ID = 11089]
2. As fuel for motors/ e & fm Suad =a

[Option ID = 11090]
3. As an economic power/ ol oiffs @ =o &

[Option ID = 11091]
4. As lubricant/zms © Fa

[Option ID = 11092]
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4) Read the given passage and answer the following question. Your Personal Exams Guide

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down, It produces a great quantity of oil which can be made into food for human consumption, A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking, Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth, Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn ¢il instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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"Mo household can get on without vegetable oil, for it is used in cooking”, means:
“fepaft syETer o1 aaruf O © faen o odl acar ke 3T YEieT sitsia garal d ek § g3 anuet E ¢

[Question ID = 2774][Question Description = 52_qSNz_PG_GP38_Q49]
1. Households and vegetables oil cannot get on with each other/speza iz gerulky Om aea g3 @ e oidl e N

[Option ID = 11093]
2. Households can manage without oil/sm=e mient wi we R 9 @© o et &
[Option ID = 11094]
3. Oil is an essential ingredient in coeking, so households need it/de silsier Toet W AT QI 7 20T sjE2el 1 TRB! Aa9asdl gidl 2

[Option ID = 11095]
4, Households can get on with cooking without vegetable oil/sm=a Rien terafr fa e siewm o e 25 I &

[Option ID = 11096]

5) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins,

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man, When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
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methods of warfare on land, sea and air. This Kind of oil comes out of the earth. Because it burns well, it isyusgd pefeelr@adExams Guide
in some ways, it is superior to coal in this respect, Many big ships now burn oil instead of coal. Because it burns brightly, it is

used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for

lubrication.
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Qil-burning lamps:
e A Sietel art 3q ;

[Question ID = 2775][Question Description = 52_qSNz_PG_GP38_Q50]
1. Are used in more and more homes nowadays/anfisft afims 31 afdes o3 ¥ ges ar 2

[Option ID = 11097]
2. Are not used at all/sm yges == 2o 2

[Option ID = 11098]
3. Burn more brightly than any other kind of lamp/ae yeor &5 du 31 afdes owar milds 3 oo &

[Option ID = 11099]
4, Are used by a large number of people, although not so many as previously/ e I & el g Ter 2 2, =0 uad © Baen affnr =023 suwien 2 2

[Option ID = 11100]
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